BIAHASAT O R EERLEBLAURE  * JH B|H|

362
g T 357 7Fenmnza Yl BB : ks
—. BEEBE:60% (FRE 6 77)

1. If two functions f and g are continuous at a real number ¢, then which
function is also continuous at c: (a) thesum f +g (b)the difference f-g (c)

the product f-g (d)the quotient I ,provide g(c)=0 (e)all of them
4

2. The hyperbolic sine function is denoted by sinh. Find the derivative of the inverse
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function of it. That is, let y =sinh™ x , find % = (a)
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3. Evaluate lim 4dx
M
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=c, c isa constant. What is the value of ¢? (a)zrz—(b)
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4. What is the value of J; dx ? (FEFEZIZE =) () 0.710 (b) 0.637 (c) 0.231

(d) 0.425 (£)0.862

1
5. Find the limits of limx* (a)1 (b) 0 (c)~ (d)-c<(e)none

6.¢ =0.01, find a minimum positive integer N .Forall n>N, 3n+2 —3{ <g,

n-1

N = (2)302 (b) 402 () 502 (d)602 (€)702

7. u,, =+u,+1, u, =1.The value of limu, = (a) 145 (b)%(lh/g)

(c)%(1+«/§) (d) %(JENE) (e)%(2+\/§)
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8. a=limg—f———:—2—, b= lim 1 1 . What is the value of (a,b) (a)
=0 ]-cos2x =~0\e* -1 x
11 11 1 1 1 1 1
—,=)®) (-=,=) (©) (-=,-=) @) . (=-2) (e -
(22)()(22)()(2 ) .G 2)()(1,2)
9. Let y=xarcsin(x), z=In|4+5x-2x".Find D and %
2
(2) arcsin(x)+ +C,, >—6x 5+ C,
1-x? 4+5x-2x -
. 1 |5-6x7|
b) arcsin(x) + +C,, +C
( ) ( ) -\/1—x2 1 4+5x_2x3 2
(c) arcsin(x)+ Z_+C 5-6x° +C
J-x Vla+sx-2x|
2
(d) arcsin(x)+ ! +C1,|—§——6L—;|+C2
1-x2? 4+45x-2x
x 5-6x*
e) arcsin(x)+ +C,, +C C, and C, are constants
(e) *) \[l—xz D sr_ 2 | 2 (€ 2 n )

10. V is the volume of the region beneath the surface z = xy” + y* and over the
rectangle R ={(x,y):0=x=<2and1sy=3}. Whatis the value of V?

152 161 172 292 224
(a) vy (b)T © > (d 3 (e) 3
— . SHEEIEEA0%

1. If y=x"and x>0 ,Find % (10%)

Evaluate the following functions:

5% =3x*+7x-3
a. f(

1) +x:3" )dx (5%)
b. f(x2e2‘+e" cosx}ix (5%)
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3. Determine whether the series is convergent or divergent ?

a. 25"7 %)

[ 23n+1

b.

(5%)

n
nm=

4.Pick a, and a,.For n=2, compute a, recursively, so that
n(n-1)a, = (n~1)n-2)a, - (n-3)a,_,
Evaluate Za" . (10%)

N




